




 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 



 

 

 

 

 

 



 

 

 

 

 

 

 ¬



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 



Front

0.812 Dia.
(10 PLACES)

19.86

17.23

19.38

21.24

26.56

23.94

3.03 1.72
2.27

3.58

30.00

24.38

3/8-16
Welded Nut (4)

1.30

Front

3/8-16
Welded Nut (4)

0.812 Dia.
(8 PLACES)

25.875

23.250

27.625

25.375

19.500

26.625

24.000

3.063 1.750 1.875

2.750

4.063

30.000

31.375

19.500

5.937



 

 

 

 

 

 

 

 

 

 



 

 

 

 





to Distribution:
Bus #2

Position #24

to Distribution:
Bus #2

Position #19

to Distribution:
Bus #2

Position #18

to Distribution:
Bus #2

Position #13

to Distribution:
Bus #4

Position #48

to Distribution:
Bus #4

Position #43

to Distribution:
Bus #4

Position #42

to Distribution:
Bus #4

Position #37

to Distribution:
Bus #1
Position #1

to Distribution:
Bus #1
Position #6

to Distribution:
Bus #1
Position #7

to Distribution:
Bus #1
Position #12

to Distribution:
Bus #3
Position #25

to Distribution:
Bus #3
Position #30

to Distribution:
Bus #3
Position #31

to Distribution:
Bus #3
Position #36

Rear cover panels removed in illustration for clarity.

Rear View Rear View

Load Lug and/or
Load Lug Adapter Kit
Mounting Locations



NOTE THAT 1-POLE 218 CIRCUIT BREAKERS
DO NOT REQUIRE LOAD LUG ADAPTER PLATES

2-Position
Lug Adapter Kit

P/N 529132

3-Position
Lug Adapter Kit

P/N 529131

4-Position
Lug Adapter Kit

P/N 534420

1-Position Devices
(Load Busbars with NO
Lug Adapters Installed)



Customer
Supplied
Lug

Busbars
P/O Dist.
Bay

2-Position
Lug Adapter Kit

P/N 529132

Customer
Supplied
Lug

Customer
Supplied
Lugs

Customer
Supplied
Lugs

Busbars
P/O Dist.
Bay

Note:  Apply Electrical Anti-Oxidation
           Compound to all Busbar
            Mating Surfaces.

Note:  Concave Side of Belleville Washer Faces Busbar,
           Convex Side Faces Bolt or Nut.

(1) Spacer Busbar,
      P/N 528806

(1) Adapter Busbar,
     P/N 528794

(2) 3/8-16 Hex Nut,
      P/N 228567100
(2) 3/8" Flat Washer,
      P/N 214204100

(1) 3/8-16 Hex Nut,
      P/N 228567100
(1) 3/8" Flat Washer,
      P/N 214204100

Torque to 180 in-lbs.

(1) 1/4-20 x 7/8" Bolt,
      P/N 227640500
(1) 1/4" Flat Washer,
      P/N 214110100

(2) 3/8-16 x 1-1/2" Bolt,
      P/N 227647000
(2) 3/8" Belleville Lock Washer,
      P/N 214825000

(4) 3/8-16 x 1-1/2" Bolt,
      P/N 227647000
(4) 3/8" Flat Washer,
      P/N 214112100

(1) 3/8-16 x 1" Bolt,
      P/N 227646600
(1) 3/8" Belleville Lock Washer,
      P/N 214825000

(1) 1/4-20 x 7/8" Bolt,
      P/N 227640500
(1) 1/4" Flat Washer,
      P/N 214110100

(1) Adapter Busbar,
     P/N 528794

(8) 3/8-16 Hex Nut,
      P/N 228567100
(8) 3/8" Lock Washer
      P/N 215111300
(8) 3/8" Flat Washer,
      P/N 214112100

Torque to 300 in-lbs.

Torque to 84 in-lbs.

Torque to 84 in-lbs.

(1) 1/4-20 Hex Nut,
      P/N 228557100
(1) 1/4" Lock Washer
      P/N 215111100
(1) 1/4" Flat Washer,
      P/N 214110100



3-Position
Lug Adapter Kit

P/N 529131

Customer
Supplied
Lugs

Customer
Supplied
Lugs

Customer
Supplied
Lugs

Customer
Supplied
Lugs

Busbars
P/O Dist.
Bay

Busbars
P/O Dist.
Bay

Note:  Apply Electrical Anti-Oxidation
           Compound to all Busbar
            Mating Surfaces.

Note:  Concave Side of Belleville Washer Faces Busbar,
           Convex Side Faces Bolt or Nut.

(1) Adapter Busbar,
     P/N 528795

(1) Spacer Busbar,
     P/N 528806

(1) Spacer Busbar,
     P/N 528806

(1) Adapter Busbar,
     P/N 528795

Torque to 180 in-lbs.

(4) 3/8-16 Hex Nut,
      P/N 228567100
(4) 3/8" Flat Washer,
      P/N 214204100

(4) 3/8-16 x 1-1/2" Bolt,
      P/N 227647000
(4) 3/8" Belleville Lock Washer,
      P/N 214825000

(4) 3/8-16 x 1" Bolt,
      P/N 227646600
(4) 3/8" Belleville Lock Washer,
      P/N 214825000

(4) 3/8-16 Hex Nut,
      P/N 228567100
(4) 3/8" Flat Washer,
      P/N 214204100

(2) 1/4-20 x 5/8" Bolt,
      P/N 227640300
(2) 1/4" Lock Washer,
      P/N 215111100
(2) 1/4" Flat Washer,
      P/N 214110100

Torque to 180 in-lbs.

(2) 3/8-16 Hex Nut,
      P/N 228567100
(2) 3/8" Flat Washer,
      P/N 214204100

(4) 3/8-16 Hex Nut,
      P/N 228567100
(4) 3/8" Flat Washer,
      P/N 214204100

(4) 3/8-16 x 1-1/2" Bolt,
      P/N 227647000
(4) 3/8" Belleville Lock Washer,
      P/N 214825000

(2) 3/8-16 x 1" Bolt,
      P/N 227646600
(2) 3/8" Belleville Lock Washer,
      P/N 214825000

(1) 1/4-20 x 5/8" Bolt,
      P/N 227640300
(1) 1/4" Lock Washer,
      P/N 215111100
(1) 1/4" Flat Washer,
      P/N 214110100

Torque to 84 in-lbs.

Torque to 84 in-lbs.



4-Position
Lug Adapter Kit

P/N 534420

Busbars
P/O Dist.
Bay

Customer
Supplied
Lugs

Customer
Supplied
Lugs

(4) 3/8-16 x 1-1/2" Bolt,
      P/N 227647000
(4) 3/8" Belleville Lock Washer,
      P/N 214825000

Torque to 180 in-lbs.

(1) Adapter Busbar,
     P/N 534421

(1) Spacer Busbar,
     P/N 528806

(1) Adapter Busbar,
     P/N 534421

(8) 3/8-16 Hex Nut,
      P/N 228567100
(8) 3/8" Flat Washer,
      P/N 214204100

(4) 3/8-16 x 2" Bolt,
      P/N 227647400
(4) 3/8" Belleville Lock Washer,
      P/N 214825000

Note:  Apply Electrical Anti-Oxidation
           Compound to all Busbar
            Mating Surfaces.

Note:  Concave Side of Belleville Washer Faces Busbar,
           Convex Side Faces Bolt or Nut.



1-Pole 218 Circuit
Breakers Assemblies

2-Pole 218 Circuit
Breaker Assemblies

NO LUG ADAPTER
KIT REQUIRED

Lug Adapter Kit

2-Position
Lug Adapter Kit

P/N 529132

Lug Adapter Kit

3/8" Clearance Hole

1.000"



4-Pole 218 Circuit
Breaker Assemblies

3-Pole 218 Circuit
Breaker Assemblies

3-Position
Lug Adapter Kit

P/N 529131

Lug Adapter Kit

3/8" Clearance Hole

1.000"

4-Position
Lug Adapter Kit

P/N 534420

Lug Adapter Kit

3/8" Clearance Hole

1.000"



2-Position
Lug Adapter Kit

P/N 529132

Lug Adapter Kit

3/8" Clearance Hole

1.000"

Fuseholder Assembly
P/N 514403

TPL Fuse

GMT-18/100A
Alarm Fuse
and GMT-X

Safety Fuse Cover



Fuseholder Assembly
P/N 514404

TPL Fuse

GMT-18/100A
Alarm Fuse
and GMT-X

Safety Fuse Cover

3-Position
Lug Adapter Kit

P/N 529131

Lug Adapter Kit

3/8" Clearance Hole

1.000"

TPL
Fuse

TPL Fuses

Flat Washer
Lock Washer

Nut

Torque to
168 in-lbs

GMT-18/100A
Alarm Fuse
and GMT-X

Safety Fuse Cover

Fuseholder Assembly
P/N 514403             P/N 514404



TLS/TPS Fuses

Bullet Nose-Type

Circuit Breakers

Toggle

Handle

Breaker

Rocker

Handle

Breaker

Load leads are connected to load busbars.

These busbars provide 1/4-20 threaded holes

on 5/8” centers for installation of customer

provided two-hole lugs. Customer must

provide lug mounting bolts and additional

hardware. Bolt length: 3/4”.

Note:



 

 

 

 

 

 

 

 

 



 

 









 

 

 

 

 

 

 





 

 

 

Connect BAT RTN to this Terminal

Distribution Bays

Front Door Removed in
Illustration for Clarity





 

 

 

 

 



 

 

 

 

 



Ω

Ω

Ω







Detail A
MCA Circuit Card P/N 509478

(Primary Bay)

Remote
Equalize

Remote
HVS

PCU
Emergency

Stop (ESTOP)
Test

Input**

Dry Relay Contact
Closure to Activate

**  Apply Test contact closure, then apply
     HVS or ESTOP closure to test these circuits.
     See MCA display to verify circuits operational.

External
Voltage Input

(for MCA Alarms
and Meter Reading*)
-VSense    +VSense

1 10

*    Automatic internal sense when not connected.
     Note:  If connected and removed, external
     A/D Volt Alarm activates.  Clear alarm by updating
     inventory. 

Fuse @
1-1/3 Amps

28-16 AWG
Torque to 2.0 in-lbs



MCA I/O Circuit Cards
(Primary and/or Secondary Bays)

(P/N 524550, 1 analog input, 1 analog output, 4 binary inputs)
(P/N 524551, 0 analog input, 0 analog output, 4 binary inputs)

1

12

TB1

B1***

B2***

B3***

B4***

A1 IN*

A1 OUT**

+

_
+

_

1

9

10

18

K3

K2

K1

K6

K5

K4
NC
COM
NO

NC
COM
NO

NC
COM
NO

NC
COM

NO

NC
COM

NO

NC
COM

NO

TB1

Detail B

MCA Customer Alarm
Relay Circuit Card P/N 514348

(Primary and/or Secondary Bays)

Notes
NC = Normally Closed
COM = Common
NO = Normally Open

All relay contacts are shown
with the relay deenergized.

28-16 AWG
Torque to 2.0 in-lbs

28-16 AWG
Torque to 2.0 in-lbs

*  0-50 mv DC Shunt Input
**  0-50 mv DC Output for Remote Plant Output Current Monitoring
***  Dry Contacts, Circuit Closure to Activate Alarm



19

1
0

1
8

K
3

K
2

K
1

K
6

K
5

K
4

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

T
B

1

N
o
te

s

N
C

 =
 N

o
rm

a
lly

 C
lo

s
e
 C

o
n
ta

c
t

C
O

M
 =

 C
o
m

m
o
n

N
O

 =
 N

o
rm

a
lly

 O
p
e
n
 C

o
n
ta

c
t

A
ll 

re
la

y
 c

o
n
ta

c
ts

 a
re

 s
h
o
w

n

w
it
h
 t
h
e
 r

e
la

y
 d

e
-e

n
e
rg

iz
e
d
.

A
ll 

re
la

y
s
 a

re
 e

n
e
rg

iz
e
d

d
u
ri
n
g
 n

o
rm

a
l 
o
p
e
ra

ti
o
n
,

a
n
d
 d

e
-e

n
e
rg

iz
e
d

d
u
ri
n
g
 a

n
 a

la
rm

 c
o
n
d
it
io

n
.

#
1
  
  
 #

2
  
  
 #

3
  
  
 #

4
  
  
 #

5
  
  
 #

6
  
  
 #

7

19

1
0

1
8

K
3

K
2

K
1

K
6

K
5

K
4

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

T
B

1

19

1
0

1
8

K
3

K
2

K
1

K
6

K
5

K
4

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

T
B

1

19

1
0

1
8

K
3

K
2

K
1

K
6

K
5

K
4

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

T
B

1

19

1
0

1
8

K
3

K
2

K
1

K
6

K
5

K
4

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

T
B

1

19

1
0

1
8

K
3

K
2

K
1

K
6

K
5

K
4

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

T
B

1

19

1
0

1
8

K
3

K
2

K
1

K
6

K
5

K
4

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

N
C

C
O

M

N
O

T
B

1

#
1

#
3

#
5

#
7

#
6

#
4

#
2

A
C

 M
A

J
O

R

O
V

E
R

C
U

R
R

E
N

T

R
E

C
T

. 
M

IN
O

R

U
N

D
E

F
IN

E
D

M
C

A
 F

A
IL

A
C

 M
IN

O
R

A
C

 M
A

J
O

R

O
V

E
R

C
U

R
R

E
N

T

R
E

C
T

. 
M

IN
O

R

U
N

D
E

F
IN

E
D

M
C

A
 F

A
IL

A
C

 M
IN

O
R

A
U

D
IB

L
E

H
IG

H

V
O

L
T

A
G

E
 #

2

V
E

R
Y

 L
O

W

V
O

L
T

A
G

E

R
E

C
T

. 
M

A
J
O

R

R
E

C
T

. 
F

A
IL

T
E

S
T

/E
Q

A
U

D
IB

L
E

H
IG

H

V
O

L
T

A
G

E
 #

2

V
E

R
Y

 L
O

W

V
O

L
T

A
G

E

R
E

C
T

. 
M

A
J
O

R

R
E

C
T

. 
F

A
IL

T
E

S
T

/E
Q

A
C

 F
A

IL

M
IN

O
R

M
A

J
O

R

H
IG

H

V
O

L
T

A
G

E
 #

1

B
A

T
T

E
R

Y
 O

N

D
IS

C
H

A
R

G
E

B
R

E
A

K
E

R
/F

U
S

E

A
C

 F
A

IL

M
IN

O
R

M
A

J
O

R

H
IG

H

V
O

L
T

A
G

E
 #

1

B
A

T
T

E
R

Y
 O

N

D
IS

C
H

A
R

G
E

B
R

E
A

K
E

R
/F

U
S

E

U
N

D
E

F
IN

E
D

U
N

D
E

F
IN

E
D

U
N

D
E

F
IN

E
D

C
o
n
tr

o
lle

r 
C

o
n
d
it
io

n
s

th
a

t 
a

re
 L

o
g

g
e

d
 a

n
d

th
a

t 
L

ig
h

t 
th

e
 B

a
y
 #

1

A
la

rm
 L

E
D

U
N

D
E

F
IN

E
D

U
N

D
E

F
IN

E
D











 

 

 

 

 

 

 

 

 





1

69

5

9-Pin Female D-Type Jack

LMS LOCAL PORT
(RS-232)

(active only if
optional LMS installed)

FUNCTION

SELECT

MAJOR MINOR AC TEST EQ

YES

ENTER

NO

FUNCTION
SET

RS-232

ALARM

CUTOFF

MCA CONTROL PANEL AND DISPLAY

(Primary Power Bay Monitoring and Control Section)

Detail A



LMS Ethernet Port
(Primary Power Bay Only)

(RJ-45)

LMS OEM Port
(RS-485)
(Primary Power
Bay Only)

LMS Network Ports
(Echelon) (RJ-45)

Detail B

1

69

5

9-Pin Female D-Type Jack

Primary Bay

LMS Expansion Assembly

LMS Expansion Assembly

Secondary Bay Secondary Bay Secondary Bay

LMS Network Cable
 (BLUE Cable)

LMS Network Cable
 (BLUE Cable)

LMS Network Cable
 (BLUE Cable)

LMS NETWORK PORT
Typical Interconnections

LMS Network Cable
 (BLUE Cable)

LMS Network Cable
 (BLUE Cable)



LMS Monitoring System

Main CPU Circuit Card

(P/N 545558)

(Primary Power Bay Only)

LMS Modem

Port (RJ-11)

(Phone Line)

Piggy-Back Modem

Circuit Card

(P/N 508951)

J4

(located

behind

bracket)

External

CPU/Hardware Fail Alarm

Relay contacts are shown

with the relay de-energized.

Relays are energized during

normal operation and

de-energized during an alarm

condition.

NC = Normally Closed

C = Common

NO = Normally Open



4-Input
Analog

(P/N 506336)

8-Input
Temperature
(P/N 506333)

8-Input
Analog

(P/N 514528)

4-Input
Binary

(P/N 506332)

8-Input
Binary

(P/N 506334)

4-Output
Relay

(P/N 506335)

Detail D

Seven-Slot Card Cage for MCA
Customer Alarm Relay Circuit Cards

and/or LMS Input/Output (I/O) Circuit Cards

Available LMS I/O Circuit Cards

12-Input
Analog

(P/N 520838)



 

 

 

 

 

 

 

 



 

 

 

 

 



1 8

Rear View Isometric View



Recm. Torque:
1/4" Hardware
using Belleville
Lock Washer
60 in-lbs.

Top View
Power Bay

1/4" clearance holes
on 5/8" centers are

provided for installation
of customer provided

two-hole lug.

1/4" clearance holes
on 5/8" centers are
provided for installation
of customer provided
two-hole lug.



Recm. Torque

1/4" Hardware
using Belleville
Lock Washer
60 in-lbs.

Top View
Distribution Bay

1/4" clearance holes
on 5/8" centers are
provided for installation
of customer provided
two-hole lug.

1/4" clearance holes
on 5/8" centers are

provided for installation
of customer provided

two-hole lug.





to Distribution:
Bus #2

Position #24

to Distribution:
Bus #2

Position #19

to Distribution:
Bus #2

Position #18

to Distribution:
Bus #2

Position #13

to Distribution:
Bus #4

Position #48

to Distribution:
Bus #4

Position #43

to Distribution:
Bus #4

Position #42

to Distribution:
Bus #4

Position #37

to Distribution:
Bus #1
Position #1

to Distribution:
Bus #1
Position #6

to Distribution:
Bus #1
Position #7

to Distribution:
Bus #1
Position #12

to Distribution:
Bus #3
Position #25

to Distribution:
Bus #3
Position #30

to Distribution:
Bus #3
Position #31

to Distribution:
Bus #3
Position #36

Rear cover panels removed in illustration for clarity.

Rear View Rear View

Connect Load Leads Here
(Load Lug Adapter Plates
May Be Required, Refer to

Previous Illustrations)

2-Position
Lug Adapter Kit

P/N 529132

3-Position
Lug Adapter Kit

P/N 529131

4-Position
Lug Adapter Kit

P/N 534420

Recm. Torque

3/8" Hardware
using Belleville
Lock Washer,
180 in-lbs

3/8" Hardware
using flat washer
and lock washer,
300 in-lbs



Note:  Load leads are connected to load busbars.
           These busbars provide 1/4-20 threaded holes
           on 5/8" centers for installation of customer
           provided two-hole lugs.  Customer must
           provide lug mounting bolts and additional
           hardware.  Bolt length:  3/4".

Recm. Torque

1/4" Hardware
using Belleville
Lock Washer,
60 in-lbs

1/4" Hardware
using flat washer
and lock washer,
84 in-lbs



 

 

 

 

 

 



Wire Size
24 to 14 AWG.
Torque 5.0 in-lbs.

Load Return
Connections

-48V Load
Connections

Load Lead Connections (-48V) or
Ground/Return to GMT Module (+Ground)

DANGER

Ensure leads are connected to
proper polarity for the device
installed, either a Distribution
Device (load lead connection)
or ground/return to GMT Module
(ground connection).

List C Fuse/Circuit Breaker Panel

GMT Module
P/N 509128

NOT
USED

Connect Ground for
GMT Module at either

of these two points

F11

F12

F1 thru F10

GMT Module
P/N 509128



 

 

 

 

 

 

 

 



See Detail A
(12 Feeds)

See Detail B
(24 Feeds)

Note: Rectifier numbering is for
wiring identification only.
The MCA identifies rectifiers
differently.

Rectifier #1 Mounting Slot

Rectifier #3 Mounting Slot

Rectifier #5 Mounting Slot

Rectifier #7 Mounting Slot

Rectifier #9 Mounting Slot

Rectifier #11 Mounting Slot

Rectifier #13 Mounting Slot

Rectifier #15 Mounting Slot

Rectifier #17 Mounting Slot

Rectifier #19 Mounting Slot

Rectifier #21 Mounting Slot

Rectifier #23 Mounting Slot

Rectifier #2 Mounting Slot

Rectifier #4 Mounting Slot

Rectifier #6 Mounting Slot

Rectifier #8 Mounting Slot

Rectifier #10 Mounting Slot

Rectifier #12 Mounting Slot

Rectifier #14 Mounting Slot

Rectifier #16 Mounting Slot

Rectifier #18 Mounting Slot

Rectifier #20 Mounting Slot

Rectifier #22 Mounting Slot

Rectifier #24 Mounting Slot

Front View
Power Bay

Top View
Power Bay

Six (6) 1.125" openings for 3/4" conduit.
Two (2) conduit plates with
2.5", 1.75", and 1.125" knock-outs
for 2", 1.5", and 3/4" conduit.
Six (6) 1.75" openings for 1.5" conduit
(under plate).

Front cover panel
removed in illustration



Ensure jumper busbars are installed.

Rectifier #3 & #4

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #7 & #8

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #11 & #12

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #15 & #16

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #19 & #20

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #23 & #24

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #1 & #2

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #5 & #6

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #9 & #10

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #13 & #14

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #17 & #18

Mounting Slots

Phase A

Phase B

Phase C

Rectifier #21 & #22

Mounting Slots

Phase A

Phase B

Phase C

Detail A

380/480VAC (List A) or 208VAC (List B)

3 Phase, 50/60Hz

(12 AC Input Feeds,

1 per 2 Rectifier Modules)

Equipment

Grounding

(1/4-20 Studs

on 1” Centers)



Pha se A

Pha se C

Pha se B

Pha se A

Pha se C
Pha se B

Pha se A

Pha se C

Pha se B

P hase A

P hase C

P hase B

P hase A

P hase C
P hase B

P hase A

P hase C

P hase B

E quip m ent
G round ing
(1/4-20 S tuds
o n 1" C e nters)

P ha se A

P ha se C

P ha se B

Ph ase A

Ph ase C

Ph ase B

Pha se A

Pha se C

Pha se B

P hase A

P hase C

P hase B

Ph ase A

Ph ase C

Ph ase B

Ph ase A

Ph ase C

Ph ase B

Ensure jumper busbars are NOT installed.

Detail B

380/480VAC (List A) ro 208VAC (List B)

3 Phase, 50/60Hz

(24 AC Input Feeds,

1 per Rectifier Module)

Rectifier #3

Mounting Slot

Rectifier #7

Mounting Slot

Rectifier #11

Mounting Slot

Rectifier #15

Mounting Slot

Rectifier #19

Mounting Slot

Rectifier #23

Mounting Slot

Rectifier #2

Mounting Slot

Rectifier #6

Mounting Slot

Rectifier #10

Mounting Slot

Rectifier #14

Mounting Slot

Rectifier #18

Mounting Slot

Rectifier #22

Mounting Slot

P ha se A

P ha se C

P ha se B

P ha se A

P ha se C

P ha se B

P ha se A

P ha se C
P ha se B

P ha se A

P ha se C

P ha se B

P ha se A

P ha se C
P ha se B

P ha se A

P ha se C

P ha se B

Rectifier #1

Mounting Slot

Rectifier #5

Mounting Slot

Rectifier #9

Mounting Slot

Rectifier #13

Mounting Slot

Rectifier #17

Mounting Slot

Rectifier #21

Mounting Slot

P hase A

P hase C
P hase B

P hase A

P hase C
P hase B

P hase A

P hase C

P hase B

Ph ase A

Ph ase C
Ph ase B

P hase A

P hase C
P hase B

Ph ase A

Ph ase C

Ph ase B

Rectifier #8

Mounting Slot

Rectifier #12

Mounting Slot

Rectifier #16

Mounting Slot

Rectifier #20

Mounting Slot

Rectifier #24

Mounting Slot

Rectifier #4

Mounting Slot



 

 

 

 

 

 

 



See Detail A
(6 Feeds)

Note: Rectifier numbering is for
wiring identification only.
The MCA identifies rectifiers
differently.

Rectifier #1 Mounting Slot

Rectifier #3 Mounting Slot

Rectifier #5 Mounting Slot

Rectifier #7 Mounting Slot

Rectifier #9 Mounting Slot

Rectifier #11 Mounting Slot

Rectifier #13 Mounting Slot

Rectifier #15 Mounting Slot

Rectifier #17 Mounting Slot

Rectifier #19 Mounting Slot

Rectifier #21 Mounting Slot

Rectifier #23 Mounting Slot

Rectifier #2 Mounting Slot

Rectifier #4 Mounting Slot

Rectifier #6 Mounting Slot

Rectifier #8 Mounting Slot

Rectifier #10 Mounting Slot

Rectifier #12 Mounting Slot

Rectifier #14 Mounting Slot

Rectifier #16 Mounting Slot

Rectifier #18 Mounting Slot

Rectifier #20 Mounting Slot

Rectifier #22 Mounting Slot

Rectifier #24 Mounting Slot

Front View
Power Bay

Top View
Power Bay

Six (6) 1.125" openings for 3/4" conduit.
Two (2) conduit plates with
2.5", 1.75", and 1.125" knock-outs
for 2", 1.5", and 3/4" conduit.
Six (6) 1.75" openings for 1.5" conduit
(under plate).

Front cover panel
removed in illustration



Detail A

408VAC (List A)

(6 AC Input Feeds,

1 per 4 Rectifier Modules)

Equipment
Grounding
(1/4-20 Studs
on 1" Centers)

AC Input
(10-32 Studs
on 5/8" Centers)

Rectifier #5, #6, 7 & #8

Mounting Slot

Phase A

Phase C
Phase B

Rectifier #13, #14, #15 & #16
Mounting Slot

Phase A

Phase C
Phase B

Rectifier #21, #22, #23 & #24
Mounting Slot

Phase A

Phase C

Phase B

Rectifier #1, #2, #3 & #4
Mounting Slot

Phase A

Phase C

Phase B

Rectifier #9, #10, #11 & #12
Mounting Slot

Phase A

Phase C

Phase B

Rectifier #17, #18, #19 & #20
Mounting Slot

Phase A

Phase C
Phase B



 

 

 

 



CB1

CB2

CB3

CB4

CB5

CB6

CB7

CB8

CB9

CB10

CB11

CB12

Odd Numbered
Rectifier Mounting

Slots

Even Numbered
Rectifier Mounting

Slots

380/480VAC (List A) or 208VAC (List B)
3 Phase, 50/60Hz
(2 AC Input Feeds,

1 per 12 Rectifier Modules)

Rectifier #1 Mounting Slot

Rectifier #3 Mounting Slot

Rectifier #5 Mounting Slot

Rectifier #7 Mounting Slot

Rectifier #9 Mounting Slot

Rectifier #11 Mounting Slot

Rectifier #13 Mounting Slot

Rectifier #15 Mounting Slot

Rectifier #17 Mounting Slot

Rectifier #19 Mounting Slot

Rectifier #21 Mounting Slot

Rectifier #23 Mounting Slot

Rectifier #2 Mounting Slot

Rectifier #4 Mounting Slot

Rectifier #6 Mounting Slot

Rectifier #8 Mounting Slot

Rectifier #10 Mounting Slot

Rectifier #12 Mounting Slot

Rectifier #14 Mounting Slot

Rectifier #16 Mounting Slot

Rectifier #18 Mounting Slot

Rectifier #20 Mounting Slot

Rectifier #22 Mounting Slot

Rectifier #24 Mounting Slot

Front cover panel
removed in illustration

Front View
Power Bay

C  B  A A  B  C

Top View
Power Bay

Note: Rectifier numbering is for
          wiring identification only.
          The MCA identifies rectifiers
          differently.
          

Equipment
Grounding
(1/4-20 Studs
on 1" Centers)

AC Input
(3/8-16 Studs
on 1" Centers)

Six (6) 1.125" openings for 3/4" conduit.
Two (2) conduit plates with
2.5", 1.75", and 1.125" knock-outs
for 2", 1.5", and 3/4" conduit.
Six (6) 1.75" openings for 1.5" conduit
(under plate).





Rear View
Power Bay

DC Output 
Positive Busbar (+)
(Ground Return Bus)

DC Output
Negative Busbar (-)
(Supply -48V Bus)

Rear Cover Panel
Removed in Illustration

3/8" Clearance
Hole (21) 2.00" 1.00"

1.25"





 

 

 

 

 

 





 
 
 

 
 

 



 

 

 

 

 

 

 

 

 

 

 





Existing Power SystemNew Power System
(Spec. No. 582140001)

Batteries Batteries

R5

R4

R3

R2

R1

D1

D2

D3

D4

BRR to FGB

-48 V

BR+
External BR+

Cabling sized for largest current
between systems



 

 

 

 

 

 

 

 

 



582140001 Main Power Bay
Monitor and Control Section

MCA Panel in a 582121100 Power Bay
or 582121900 Distribution Bay or
582121901 Distribution Bay
(RS-485 Option Installed)

LMS Network Ports
(Echelon) (RJ-45)

LMS1000 in a 582121900 or
582121901 Distribution Bay

Dual MCA
Option Cable
P/N 526842 (25')
P/N 526843 (50')

LMS Network Ports
(Echelon) (RJ-45)

LMS RS-485
Connector

LMS Monitoring System
Main CPU Circuit Card
(Main Power Bay)

MCA Circuit Card
(Main Power Bay)

See text for connecting a cable
from the LMS Gateway port to a DGU.

LMS Network Cable
(Blue Cable) (Straight-Thru)
P/N 514640 (25')
P/N 514641 (150')



 

 

 

 

 



582140001 Main Power Bay
Monitor and Control Section

Dual MCA
Option Cable
P/N 526842 (25')
P/N 526843 (50')

MCA in PCU Intelligence Shelf of
a Medium Vortex Power System

(RS-485 Option Installed)

LMS RS-485
Connector

MCA Circuit Card
(Main Power Bay)



 

 

 

 

 

 



582140001 Main Power Bay
Monitor and Control Section

LMS Network Ports
(Echelon) (RJ-45)

Dual MCA
Option Cable
P/N 526842 (25')
P/N 526843 (50')

MCA in Distribution Cabinet of a
Medium Vortex Power System
(RS-485 Option Installed)

LMS1000 in Vortex Power System

LMS Network Ports
(Echelon) (RJ-45)

LMS RS-485
Connector

LMS Monitoring System
Main CPU Circuit Card
(Main Power Bay)

MCA Circuit Card
(Main Power Bay)

LMS Network Cable
(Blue Cable) (Straight-Thru)
P/N 514640 (25')
P/N 514641 (150')



 

 

 

 

 

 

 

 



582140001 Main Power Bay
Monitor and Control Section

to LMS Analog Card (58650550020)
in 582140001 System

to LMS Binary Card (58650550031)
in 582140001 System

to LMS Binary Card (58650550031)
in 582140001 System

Legacy Power System

LMS Monitoring System
Main CPU Circuit Card

(Main Power Bay)

MCA Circuit Card
(Main Power Bay)

Rectifier

Distribution

Shunt
Leads

FA
Lead

FA Lead

RFA
Leads

Shunt
Leads

Sense
Leads +

-

to LMS Analog Card (58650550020)
in 582140001 System

to LMS Binary Card (58650550031)
in 582140001 System

SH+

SH-

-48V FA

SH+

SH-

NO or NC

COM

-48V FA

P/O 540793
Fuse Panel

-BAT
+BAT



 

 

 

 

 

 

 

 



Handle
Captive

Fastener Safety
Latch
Pin

Safety
Latch

Release Handle





MCA Circuit Card
(Primary Power Bay)
or
Router Circuit Card
(Secondary Power Bay)

Power Bays

MONITORING AND
CONTROL SECTION

Power Bays

Front door assembly
removed in illustration
for clarity.



Distribution Bays

Distribution Bays

Front Door Removed in
Illustration for Clarity

Distribution
Bus Monitoring

 Circuit Card



MCA CIRCUIT CARD
(P/N 509478)

(PRIMARY BAY)

S1

1 2 3 4

ON = UP

J4

MCA DISTRIBUTION BUS MONITORING CIRCUIT CARD (P/N 524982)



Primary Power Bay

Alarm
Cutoff

Indicator
(Yellow)

Audible
Alarm

ALARM
CUTOFF

Pushbutton
Switch

MAJOR
Indicator
(Flashes

Red)

MINOR
Indicator

(Red)

AC
Indicator

(Green - OK
Red - Fail)

TEST EQ
Indicator
(Yellow)

FUNCTION
SELECT

Up / Down
Pushbutton
Switches

LMS LOCAL PORT
(RS-232)

(active only if
optional LMS installed)

FUNCTION SET

FUNCTION
SELECT

MAJOR MINOR AC TEST EQ

YES

ENTER

NO

FUNCTION
SET

RS-232

ALARM
CUTOFF

MCA CONTROL PANEL AND DISPLAY
(Primary Power Bay)

YES / + / i
Pushbutton Switch

ENTER /      /
Pushbutton Switch

NO / -
Pushbutton Switch





 

 

 

 

 

 

YES / + / i

NO / -

ENTER /      /

Up

Down

FUNCTION

SELECT

ALARM

CUTOFF ENTER /      /

YES / + / i

NO / -

ENTER /      /

YES / + / i

NO / -

ALARM

CUTOFF ENTER /      /

YES / + / i

NO / -







 

 



















 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 




	Admonishments Used in this Document
	Important Safety Instructions
	General Safety
	Voltages
	AC Input Voltages
	DC Output and Battery Voltages

	Battery
	Personal Protective Equipment (PPE)
	Hazardous Voltage
	Handling Equipment Containing Static Sensitive Components
	Maintenance and Replacement Procedures

	Static Warning
	FCC Information
	Customer Documentation Package
	Installation Acceptance Checklist
	Placing the Bays
	installing Distribution Devices, MCA Relay Circuit Cards, MCA I/O Circuit Cards, and LMS Circuit Cards
	Making Electrical Connections
	Installing the Rectifier Modules and Initially Starting the Power System

	Placing the Bays
	General Requirements
	Placing and Securing the Bays
	Procedure


	Installing Distribution Devices, MCA Circuit Cards, and LMS Circuit Cards
	Installing Distribution Fuses and Circuit Breakers
	Installing 218 Circuit Breakers and TPL Fuseholders into Distribution Bays
	Procedure

	Installing TPL Fuses
	Procedure

	Installing TLS/TPS Fuses
	Procedure

	Installing Bullet Nose-Type Circuit Breakers
	Procedure

	Installing an Optional Bullet Nose-Type 10-Position GMT Fuse Module
	Storing Spare Fuses
	Recording Fuse and Circuit Breaker Sizes

	Installing MCA and LMS Circuit Cards
	Circuit Card Handling
	Identifying the Circuit Cards
	Installing LMS Circuit Cards
	Installing MCA Customer Alarm Relay Circuit Card(s) and MCA I/O Circuit Card(s)
	Procedure:



	Making Electrical Connections
	Observe the Following Admonishments
	Wiring Considerations
	MCA Network Interconnections Between Bays
	Procedure:


	Distribution Bay BAT RTN Connection to System Monitoring and Control Section
	Procedure:

	MCA Battery Charge Digital Temperature Compensation Probe Connection
	Mounting Procedure:
	Connection Procedure:

	MCA CAN Bus Port Connection
	MCA External Alarm, Reference, and Control Connections and MCA I/O Circuit Card Connections
	Connections to Terminal Block TB1 on MCA Circuit Card P/N 509478
	Procedure:
	Test Procedure:

	Connections to MCA Customer Alarm Relay Circuit Cards
	Connections to MCA I/O Circuit Cards
	Analog Input
	Recommended Maximum Analog Input Loop Lengths:
	Analog Output
	Binary Inputs


	LMS Connections (if LMS Furnished)
	LMS Network Interconnections between Bays and Optional LMS Expansion Assembly(s)
	Between Bays
	Procedure:
	To Optional LMS Expansion Cabinet(s) and Expansion Assembly(s)
	Procedure:
	LMS Network Cable Assembly Instructions


	Bay Frame Grounding Connections
	Procedure

	Load Connections
	To 218 Circuit Breakers and TPL Fuses
	Load Side
	Load Return Side

	To Optional Bullet Device Panel (TLS/TPS Fuses and Bullet Nose-Type Circuit Breakers)
	Load Side
	Load Return Side

	Installing and Wiring an Optional Bullet Nose-Type 10-Position GMT Fuse Module (P/N 509128)
	Installing
	Wiring


	AC Input and AC Input Ground Connections
	Wiring Routing Guidelines
	AC Input Connections to Lists 5 and 13 Power Bays (12 or 24 AC Input Feeds)
	Procedure:

	AC Input Connections to Lists 6 and 14 Bays (6 AC Input Feeds)
	Procedure:

	AC Input Connections to Lists 4 and 12 Bays (2 AC Input Feeds)
	Procedure:


	Battery Connections
	Power Bay
	Distribution Bay

	Re-Install Shields and Cover Panels
	MCA “Alternate Current Limit” Feature
	Admonishments
	Circuit Card Handling
	Requirements and Conditions


	MCA “Power Share” Feature
	Admonishments
	General Safety
	DC Input/Output Voltages

	Requirements and Conditions
	Paralleling the Existing and New Power Systems
	Preparing the Existing and New Power Systems
	Paralleling the Systems

	Operation

	Connecting the 582140001 System to Other Systems
	Connecting a 582140001 Main Power Bay to a 582121100 Power Bay and/or 582121900/582121901 Distribution Bay (MCA and LMS Interconnections)
	Interface Notes

	Connecting a 582140001 Main Power Bay to a Medium Vortex Power System when the MCA is located in the PCU Intelligence Shelf (MCA Interconnections)
	Interface Notes

	Connecting a 582140001 Main Power Bay to a Medium Vortex Power System when the MCA is Located in the Distribution Cabinet (MCA and LMS Interconnections)
	Interface Notes

	Connecting a 582140001 Main Power Bay to a Legacy Power System (LMS Interconnections)
	Interface Notes



	Installing the Rectifier Modules and Initially Starting the Power System
	Installing the Rectifier Modules
	Procedure

	Setting Switch S1 on the MCA Circuit Card in the Primary Power Bay
	Setting Jumper J4 on MCA Distribution Bus Monitoring Circuit Cards
	Jumper Description

	Initially Starting, Configuring, and Checking System Operation
	Observe the Following Admonishment
	MCA (Meter, Control, Alarm Panel)
	MCA Local Control Panel and Display
	MCA Menu Tree
	Navigating the MCA
	MCA Numbering Scheme

	Initial Startup Preparation
	LMS Initial Startup Preparation

	Initially Starting the System
	MCA Initialization
	Initialization Routine:

	Checking the Inventory and Setting the Number of PCU (Rectifier) Positions Available in the System
	Procedure:

	Mapping PCU (Rectifier) Location
	Procedure

	Setting the Date and Time
	Procedure:

	Setting the Temperature Units (Degrees C or Degrees F)
	Procedure:

	Setting and Testing MCA Customer Alarm Relays (and MCA Relay Function Channels)
	Setting Relay Functions
	Procedure:

	Setting Relay Assignments
	Procedure:

	Testing Relays
	Procedure:


	Setting MCA I/O Circuit Card Parameters
	Procedure:

	Checking Manual Test/Equalize and Manually Initiated Timed Test/Equalize
	Procedure:

	Checking Remote High Voltage Shutdown and Rectifier Module Emergency Shutdown (ESTOP) Inputs
	Procedure:

	Checking Remote High Voltage Shutdown
	Procedure:

	Checking Emergency Shutdown and Fire Alarm Disconnect
	Procedure:

	Checking Remote Test/Equalize
	Procedure:

	Checking MCA Audible Alarm and MCA Audible Alarm Cutoff
	Procedure:
	Checking AC Fail Alarm and Rectifier Module Fail Alarm
	Procedure:


	Checking System High Voltage Alarm 1
	Procedure:

	Checking System High Voltage Alarm 2
	Procedure:

	Checking System Battery Is On Discharge Alarm
	Procedure:

	Checking Very Low Voltage Alarm
	Procedure:

	Checking Total Distribution Load Alarm
	Procedure:

	Checking Distribution Group A Load Alarm
	Procedure:

	Checking Distribution Group B Load Alarm
	Procedure:

	Checking Fuse Alarm/Circuit Breaker Alarm
	Procedure:

	Checking Metering Functions
	Procedure:

	Checking System Status
	MCA Interface Pad:
	Rectifier Module:
	Power Bay:
	Distribution Bay:

	Checking and Configuring THE LMS System



